20208 &= 1XF =Z 0l &t

B HaEE 2020 H A & H A=3d  &A

it
SEJUIOL =0 o == AEIH
o & = e
1. gadE=g: 6,900,000&
-23t00F =20 FDHdl 121E 10,0008 * 10 » 12& 1
,200,000&
2AaHE+ 6,900,000 6,900,000 0
-2 FJHdl 70,0003 +30Y 2,100,000&
-& 1= &Il 250,000& = 12& 3,000,000
-NEMEtT2 T E I 60,0003 «5EF 23| 600,000
UL ESY 6,900,000 6,900,000 0
LAHE+ 6,900,000 6,900,000 0
YATIRG
Xl 6,900,000 6,900,000 0
A== 90,000,000 90,000,000 O[HIEAOIA Ar==2 90,000,000&
A =g 90,000,000 90,000,000 0
A =& 90,000,000 90,000,000 0
A a=¢ 90,000,000 90,000,000 0
elkealla] 240,513,000 252,569,000 12,056,000 |-Q!24H1 252,569,000&
-JI2X& @ 14,612,000
23| 29,120,000 29,240,000 120,000 | -ZOHRIDIS XA : 7,200,000
-=AXI&d| 7,428,000
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gxolate | EZolaroy = ssad
2 & = e
N2REEa 269,633,000 281,809,000 2,176,000
FEEPY 269,633,000 281,809,000 12,176,000
EEEPY 269,633,000 281,809,000 12,176,000
IREELE 6,000,000 6,000,000 0|-HITIZEHZ 6.000,0002
I 6,000,000 6,000,000 0
sazal 6,000,000 6,000,000 0
sa34 6,000,000 6,000,000 0
HolFel 3 3,500,000 3,500,000 0|-2omea(DERIZ) 3,500,002
SIS 3,500,000 3,500,000 0
A S (N8 eda - "
; 26,282,000 20,000,000 ~6,282,000 | £OIMAB(SH2): 20,000,008
graasHingss 0 6,000,000 6,000,000
HoIFe 2 (S
gt 26,282,000 26,000,000 ~282,000
S 29,782,000 29,500,000 ~282,000
e 29,782,000 29,500,000 ~282,000
1. (AIEY2)8EC0I€3: 7,003,073
SEEEE 8,000,000 24,917,220 6,917,220
2. (=UAIER2)EET 0|23 17,914, 147&
e EE! 8,000,000 24,917,220 16,917,220
SEEEIETEY 2,685,000 2,807,546 122,546 |4. (ZRIZ2)HEZ0IBS © 2,807 5468
SgFoEsE= 2,685,000 2,807,546 122,546
JEE! 10,685,000 27,724,766 17,089,766
JEE] 10,685,000 27,724,766 7,039,766
JIEH 20/ X4 2 62,000 214,234 152,234 | G20/ T2
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gxoae | E20 = sEad
e 8 = e
g OIS 0IR= 62,000 214,234 152,234
. (AH=E=2)1,693,000&
JIEra 42l 2,280,000 1,698,000 587,000
TFXl OH=2tCH: 613,000
2XteletE = 1,080,000
DIEra 42l 2,280,000 1,698,000 587,000
a2l 2,342,000 1,907,234 434,766
Dol 2,342,000 1,007,234 434,766
IR 415,342,000 443,841,000 28,499,000
SH(EX32): 172,582,000
=0 33 : 186,382,000&
-2A& (23 2258) 52,544,000
-2& (43 10&8) 35,279,000
2o 181,741,000 186,382,000 4,641,000| ~XIEHDA(5Z 952) 12,340,002
~NASHWANGS 1158) 18,431,000
~MgEHWANGE 758) 28,524,000&
-AMRR(62 2&8S) 25,464,000
~Z2IAHHER) 13,800, 0002
- SW(ZFE3&): 13,800,000
2o 181,741,000 186,382,000 4,641,000
Hl%-g 42,198,000 46,879,000 4,681,000 (2822)1,380,0008




[
o

i

0

oo
P

Jo

I
X
=
P
12

Ol

=g

__>,—_|
>
on

42,198,000

46,879,000

4,681,000

(XH£E=2)4,200,0008

K=& S : 46,879,000

1) FEFOHI: 18,559,800

- (22 2388) 5,247,000
-2&(4=2 1158) 3,509,400
~HAEHWANSE 95E) 1,480,800&

-HAEHWAHSZ 1188) 1,579,800
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-ARE (62 258) 2,546,400
-Z=el AH(CHISEZ!) 1,380,000
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221 13,399,010&
-S AR 421 13,399,010&
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=& 4,200,000&
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gxolate | EZolaroy =2 NEES
o 8 =
(BX3=): 17,824,000
CESE=CTN=ESE-= 18,662,000 19,439,000 777,000
233,261,008 * 1/12 19,438, 4172
EEER 18,662,000 19,439,000 777,000
(S222)3,036,0002!
(BX35)19,374,000&
ABIRE RS X ¢ 22,794,002
1)=0142 233,261,0002 * 4.5% = 10,496,745
B 21,857,000 22,794,000 937,000
D)2 B 233,061,000 * 3.336% = 7,779,254%
3) QIR RYEE 7,779, 25481 + 10.25% = 797,374%
4)NE2E 166,850,000& * 1.45% = 2,419,325
5) AT S 166,850,008 * 0.78% = 1,301, 4302
(R EHE)384,0002
e 21,857,000 02,794,000 937,000
I, (BES2)=XEOIE: 1,490,008
ERE 1,120,000 1,490,000 370,000 | - 221 104 014 330,008 * 3% = 990, 0002
- Z& 104 0|2+ 250,000& * 2 = 500,000&
pISEFTET 1,120,000 1,490,000 370,000
o121 265,578,000 276,984,000 11,406,000
1. (RHELE)II B2 : 2,640,008
e 2,670,000 2,640,000 ~30,000

-S20[2HH] 30,0008 * 128 = 360,000
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SEJPNET =20 o =% aEIH
2 = = H=2
-&Cidl 20,0002 = 6& = 120,000
-ZALRE AH] 100,000&+6% = 600,000
J| 2249 2,670,000 2,640,000 -30,000
-SANNBEMZH| 50,0008 « 6% * 23| = 600,000
-0|EXH22/28) L AIE AKX HEHLSH] 15,0008 *
329 * 23| = 960,000&
J| 22| 2,670,000 2,640,000 -30,000
1. (XFRE8)3/2d]: 400,000
3|9l H| 400,000 400,000 0
- 3l2ld| 50,000& = 83| = 400,000&
3oyl 400,000 400,000 0
AEFA 3,070,000 3,040,000 -30,000
(03] 400,000 400,000 0| (RE&Z2&): 400,000&
(0: 03] 400,000 400,000 0
(EX28)6,263,000&
=&H ¥ ==3 ZH : 9,300,000&
-SdcmsAtEE & =2 480,000
-AFXREFXH] 192,000
=2 & &2 6,792,000 9,300,000 2,508,000 -&J|orM 22|t =22 660,000&
-EH0IXl SXI22=H| 240,000&
-St=a & AS210IE 90,0003
-2HSSCICIEA 5,000& * 23| = 10,000&
-SAD| |XI 2t2ld] 360,000
-H2IHE2(5 200) 68,0008 * 128 =816,0002
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SOIOHMAIABZEIH] 71,0008 * 128 = 852,000&
-SRI =2 125,000 * 4H = 500,000
-=AAHIA S 2 100,000

—NIS 2| HICHEH] & 200,0008 * 123 = 2,400,000
-2 40,0003 * 52 = 200,000&

-2t
=

225 2 150,000& » 122 1,800,000&
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600,000

29 2z 3| Y

(Z2=32)3,037,000&

6,792,000
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2,508,000
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oy

7,060,000

6,280,000

-780,000

(XHRE=)1,554,0008

(EX3E)B323: 4,726,000

-AIRA &3 2 oI AFZ 2 55,0008 * 128 = 660,000

-&JI2= 350,000& * 128 = 4,200,000&
-ZADIARS 70,0008 * 128 = 840,000&
-=£23 60,0008 * 62 = 360,000&
-&E3tEx FaHIE 100,000

-RERS 10,0008 * 128 = 120,000&
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6,280,000

-780,000
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SEJVIOL Z0) e == AEIA
= & = e

(ZR3&)750,000&
HASU=s SH : 3,290,000
-XAHEEE 1.280,0003
—MASSEE Ordl 35,0008 * 4% = 140,000

HAZ1= 2,990,000 3,290,000 300,000
-XS XAl 75,0008 * 23] = 150,000
- REZ 170,0008 * 12/ = 170,000&
-4 =2E 10,0008 * 6% = 60,000&
-~HAME AL ESIH] 120,0008 * 123 = 1,440,000&
-AE2WASIEXIE 3 SHHlISIHl 50,0002

HMZ= 2,990,000 3,290,000 300,000

(EA2&)1,500,000&
(Ex232&)1,670,000&
Xtk A 3,170,000

=gl 1,730,000 3,170,000 1,440,000
-Xt&FA ARHl 55,0008 * 23] = 110,000&
-=%H| 80,000& » 12& = 960,000&
-XEARS WA ¥ #clHlE 1,500,000
-Xt&2teldl 50,0002 = 1228 = 600,000&

XHEF 1,730,000 3,170,000 1,440,000
JIEt=2E 2,000,000 1,680,000 -320,000 | (2E=3&)500,000&
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% 0 Ak o 2200 by =2 NEE
2 &t = e
(RH2EHE) 1,180,000
JIEt2Zd] SH @ 1,680,000&
JlEt2 ) 2,000,000 1,680,000 ~320,000 | 1. X2 LSl @S & ebI(1,080,0002)
~ZEE(H 43]) 400,000
-HRnsXE#Y (A 63]) 180,000
-2 NSXE#Y|(121E 10082 ) 500,000
2. 90o1A=EoHI(191Z 1008 &) 600,000
JIEt2 | 2,000,000 1,680,000 ~320,000
2oyl 20,972,000 24,120,000 3,148,000
e 289,620,000 304, 144,000 14,524,000
1. (RH=RE=)500,0002
Koz St 500,000 1,000,000 500,000
-SAE2E HIEF P2l 500,000& = 23| = 1,000,000&
Rtz St 500,000 1,000,000 500,000
1. (RRAS2)AEEUIKXEl 1,200,000
A& EHIS T bl 1,200,000 1,200,000 0
-AM&Z IS K22l 100,000& » 128 = 1,200,000
A& EHIS T bl 1,200,000 1,200,000 0
Al 1,700,000 2,200,000 500,000
x| 1,700,000 2,200,000 500,000
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Sxplae | ol = ssad
= & = M=
(X2 E) 413,000
(F2Z2&) 2,400,000&
A | 10,800,000 10,800,000 0| (=x2=)7,97,000%
-S4AHI 900,000& * 122 = 10,800,000&
(£R22) 2,400,002
M HI (2441 2,400,000 2,400,000 0
2HAIH| 200,0002 = 128 2,400,000
A3 b 13,200,000 13,200,000 0
o|2H| 300,000 360,000 60,000 10j (FAS2)0IEX 2cHaZH| 30,0008 * 128 = 360,000
oz H| 300,000 360,000 60,000
2o 13,500,000 13,560,000 60,000
1. (=222)2HBI(2Z2F012!) : 38,520,000
-Jl&= 30,000,000&
0I24H| (22 =001 38,520,000 38,520,000 0
-S| &AFEZ 2,500,000
-ARI S8R E3 6,020,000
EEEEYIERES
oy ToT I EEAD 19,200,000 19,200,000 0|mermetae: 19,200,008
A MZH]: 41,580,000
NSHET 31,580,000 41,580,000 10,000,000
-H=ZHl 41,580,000
AMSE2ZH|: 4,200,000
At e 4,200,000 4,200,000 0
-+=24| ¥ === 1,200,000&
-H&E 24! 1,500,000
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gxolae | Eola =2 EEY
= & = M=
ARl 2 b 4,200,000 4,200,000 0| ~mbISxIE2H 1,500,000
= A0I=AE 93,500,000 103,500,000 10,000,000

(E)’28)1,920,000&
MEZZ2 S MHIA SH ¢ 5,280,000

HEEEIWAIAN 550,000 - 250 000 | LSO 10,0008+ 1221 1,200,008

= ZMHZZ2 140,000& * 123 1,680,000
NAAIE A2 EE2Es 150,0008 = 128 1,800,000
A& ME T2 )28 300,0008 * 231 600,000
(BExX2&)9%0,000&
(KHEEHE)2,400,000&

pE =18 5,280,000 5,280,000 0

(=23%)1,386,0002
(KHEEH2)4,500,0002
(BX22)4,5%,000&

Pt 10,480,000 10,480,000 0| metmEmaazy S ¢ 10,480,002
-F 0| ¥ otats 2ZAHl @ 1,920,000&
-0 & oorEs XEy| ; 1,800,000&
-AISI M ESSHA(HWSE) ¢ 3,360,0002
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gxolae | Eola =2 NEES
= 4 = M=
[ -
Pt T 10,480,000 10,480,000 0 %:;Mtﬂ A S;OOO’OOOJ
~S A ATHE S) © 400,008
S i 10,480,000 10,480,000 0
Arettl 109,260,000 119,260,000 10,000,000
Arettl 122,760,000 132,820,000 10,060,000
1. (HRY2)EXE: 112,000
N 112,000 112,000 0
-AtD 2 4= 112,000
N 112,000 112,000 0
SN 112,000 112,000 0
SN 112,000 112,000 0
o b 1,000,000 4,415,000 3,415,000 | 0181bI 4,415,000
0l i 1,000,000 4,415,000 3,415,000
orera 150,000 150,000 0
prera 150,000 150,000 0
GlHIbl 2 IEs 1,150,000 4,565,000 3,415,000
qurEn = 1,150,000 4,565,000 3,415,000
UES] 415,342,000 443,841,000 28,499,000
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